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Please score the following statements as either True (T), False (F), or unknown (?) based on the story
you read.

A mother and her daughter are waiting for a bus.

A little boy is crying.

The little girl is carrying a purse.

A little girl asks for a piece of candy.

A little girl stops crying.

The mom gives her daughter a piece of candy.

It’s after dark.

There are two people in the bus stop.

The mother is seated.

A small child is seated.

The child takes a piece of candy.

We know there was candy in the purse but we don’t know what kind.
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Now check your answers below.
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Correct answers: (True =T, False = F, Not enough information = ?)

? | A mother and her daughter are We know there’s a woman and a small child, but it’s not
waiting for a bus. clear whether that child is her daughter, or whether the
little girl that is mentioned is related to her at all. We
know they are in a bus stop, but we don’t know why they
are there.

? | Alittle boy is crying. There’s no mention of a little boy crying, but there isn’t
enough information to rule out that possibility.

? | The little girl is carrying a purse. “Her” purse could belong to the mother or to the child.

? | Alittle girl asks for a piece of candy. | We know that a child asked for candy, but not whether it
was a little girl.

T | Alittle girl stops crying. This is clearly stated.

? | The mom gives her daughter a It’s not clear whether the child who gets candy is her

piece of candy. daughter, and it’s not clear whether the candy was given
or taken.

? | It's after dark. It may be, but there isn’t enough information to know.

? | There are more than two people in | There could be as few as two people, or any number

the bus stop. above that.

? | The mother is seated. It’s not clear whether the woman who is seated is a
mother to the child seated with her, or a mother at all. It’s
not clear whether the mother with the purse is seated. It’s
not clear whether they are the same person or two
people.

T | A small child is seated. This is clearly stated.

? | The child takes a piece of candy. The child may have taken the candy or been given it by the
mother.

F | We know there was candy in the We don’t know whether the candy was in the purse, or if

purse but we don’t know what
kind.

the child got it somewhere else.
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